12



INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10/3/2016

EVENT DATE: 11/5/2016

EVENT NAME: Bobcat Attack

CLUB: Rotaract

TOTAL AMOUNT REQUESTED: \$1728.80

TOTAL AMOUNT APPROVED: \$1217.86

VOTE

YES: 4

NO: 0

Meeting Notes

- Collaboration Event
- Didn't get approved full amount
- They got the remainder of the Big ticket funds

ASUCM PRESIDENT SIGNATURE:

ly Selyger

DATE: 10/04/16

APPROVED:

NOT APPROVED:



INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO Name: UC Merced Rotaract Club

Event Title: Bobcat Attack

Total Amount Requested: \$1,728.80

<u>FACILITIES</u> – [insert requested amount here]

FACILITY	VENDOR	RENTAL RATE	HOURS O/USE	TOTAL PRICE
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A

<u>HONORARIUM/SPEAKER</u> – [insert requested amount here]

Name(s) of Honorarium/Speaker(s): N/A

Description of Services/Cost: N/A

<u>PERFORMER</u> – [insert requested amount here]

Name(s) of Performer(s): N/A

Description of Services/Cost: N/A

<u>ADVERTISING</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
N/A	N/A	N/A	N/A	N/A

N/A	SUBTOTAL
N/A	TAX

<u>FOOD/DRINKS</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Cheese Burger	In n Out	\$2.35	105	\$246.75
Water Bottles	Costco	\$6.69	4	\$26.76
Cookies/chip/snacks	Costco	\$29.48	2	58.96
Tea/Drinks	Costco	\$18.69	4	\$74.76
Mayonnaise	99 cent Store	\$1.00	3	\$3.00
Sandwich Bread	Food Max	\$1.50	2	\$3.00
Ham	Food Max	\$4.25	1	\$4.25
Lettuce Head	Food Max	\$1.25	4	\$5.00
American Cheese	Food 4 Less	\$3.80	1	\$3.80

\$426.28	SUBTOTAL
\$34.10	TAX (if applicable)
\$460.38	GRAND TOTAL

<u>ADDITIONAL SUPPLIES</u> – [insert requested amount here]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Ice	Target	\$3.00	7	\$21.00
Cooler	Target	\$30.00	1	30.00
Hand wipes	Target	\$2.49	3	\$7.47
Trash bags	Costco	\$22.69	1	\$22.69
Ziplock bags	Amazon	\$4.00	1	\$4.00
Plastic Knives	Costco	\$9.06	1	\$9.06
Brown Bags	Walmart	\$6.00	1	\$6.00

\$100.22	SUBTOTAL
\$8.02	TAX
\$108.24	GRAND TOTAL

<u>OTHER</u> – [insert requested amount here]

ITEM VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
-------------	---------------------	---------------	-------

Shirts	Image Master	\$7	50	\$350
Non-Latex Gloves	Costco	\$20	2	\$40
Emergency Kits	Amazon	\$2.55	100	\$255
Hygiene Kits	Amazon	\$3.49	100	\$349.24
Books	Amazon	\$8.00	10	\$80.00

\$1,074.24	SUBTOTAL
\$85.94	TAX
\$1,160.18	GRAND TOTAL